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*MAS0{H| 62,040,600 2| 7% 4,342,843+ EEHRIEF
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50,4002 x QI AH| (7| 25) 427,687,08022] 10%
42,768,709+ Q1 AH| (M| =) 139,613,870 2| 10%
13,961,387%+ Q1 Z1H| (|21 A ) 47,275,030& 2] 10%
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* A2 E S 2 (AEFI A L /2 H10H) 30 x800,0008
=2,400,0002 * 2}-52+A| 3CHx 100,000 =300,0002 * &+
IHMEEFZ 160,000 * A B ZHE 2 3H 150,000 * 524
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6,800,000 0 6,800,000 « 100.00
H& | AFYH| APRH| AA| 25,029,150 32,438,960 7,409,810
M= AFRH| AA| 132,644,580 155,915,310 23,270,730
= |”RZ|= 2| = 72| = *7|Et
Mg |[ZA= A= A& 100,000 100,000 0 0.00
Mg &A= H2AE 2H 100,000 100,000 0
N2 HAE LA 100,000 100,000 0
E 3 s
= 10,040 10,000 - 40 ~ 0.0 *oI=0IA
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= et Ef
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NZ A 875,519,000 927,044,000 51,525,000
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